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ENTITY EX1 IS
PORT (x:IN BIT VECTOR (3 DOWNTO O) ;

5:IN INTEGER RANGE 0 TO 3;
y:0UT BIT);

END EX1;

ARCHITECTURE behave OF EX1 IS
BEGIN

PROCESS (x,s)

BEGIN

FOR i IN 0 TO 3 LOOP
IF 5=1i THEN y<=x(i);
END IF;

END LOOP;

END PROCESS;
END behave;
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LIBRARY IEEE;
USE IEEESTE LOWGIC 1164 ALL:
ENTITY EX2 IS
PORT{clk. rst: IN STD_LOGIC;
] JINSTD LOGIC;
¥ OUT STD_LOGIC_VECTOR (1 DOWNTO 0));
END EXZ;

ARCHITECTURE smachine OF EX2 18
TYPE mySTATES IS {s0;. 51, 52, s3);
SHGM AL cumments - mySTATES:
BEGIN
PROCESS {clk, rst)
BEGIM
[F r=i="1' THEM
cuments<=sik,
y=="[H}";
ELSIF{clk’ Event AND dk ='1"y THEN
CASE current5 15
WHEN s} == [F 2="1" THEN cumentf<==1;
y=="017;
EMD IF;
WHEN 51 == [F x="1" THEN cumremS<=xc3;
F="107
EMI IF;
WHEN 52 == [F 2="1" THEN currems <=x53;
y=="11";
EMD IF;
WHEMN 53 == [F x="1" THEN cumenms <=sll;
y=="00";
EMNID IF;
ENDCASE:
ENID IF;
END PROCESS;
ENDy smachine;
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. WITH ... SELECT D NN vy

PO P YNANNY II20 021890 D1PN32 M0 2N 2T1Ra s 1P2°N1A0 0 Doyn?

:b™a

. b™va nron P2 OR 12w 2¢ 7D DN 22p0 Nx 0 — s="00" TwND

. b7y a IPDN P2 AND T2wa Sw TIwN DN 92PN RN = s = "01" IWwN)

.bra nv2on pa XOR n2wa 2w 70 DK 220 NX10 - s="10" 7wND

.b™ a 112 oN P2 NAND 12va 2y 7V IIN 22P0 N30 - s="11" 7wND

entity targil?7 1is
port(s: in bit wector(1 downto 0);
a,b iin b

y:out
end;

bit);
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architecture arc targil? of targil?7 is

begin|

with s
y<= a
a
a
a

end;

select
or b
and b
xor b
nand b

when
when
when
when
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ENTITY sysl IS
PORTI(x : IN BIT_VECTOR(3 DOWNTO 0}:
vy : OUT BIT);
END sysl:
ARCHITECTURE behave OF sys1 IS
BEGIN
y<=(x(0) AND x(1)) OR (x(2) AND x(3)).
END behave;

ENTITY sys2 IS

PORT(x : IN BIT_VECTOR(3 DOWNTO 0);

y: OUT BIT);

END sys2:
ARCHITECTURE behave OF sys2 IS
BEGIN

y<=(NOT x(0) AND x(1)) OR (x(2) AND NOT x(3)):
END behave:

ENTITY sys3 IS

PORT(a, b, s : IN BIT:

y : OUT BIT);

END sys3:
ARCHITECTURE behave OF sys3 IS
BEGIN

y<=a WHEN s='0' ELSE b:
END behave:

. sys1, sys2 , sys3 TIPYINNN TINN 22 TIYXIN NN 100 N
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Sysl .X
y<=(x(0) AND x(1)) OR (x(2) AND x(3)):

noRN '97 NIl Nivo
Sys2

y<=(NOT x(0) AND x(1)) OR (x(2) AND NOT x(3));
01N '97 NI NITIYS
Sys3

y<=a WHEN s='0’ ELSE b:
1-% 2 Mux

entity targil8 is

port(x: in bit_vector(3 downto 0);
5 i bats;
y:out bit);

end;

architecture arc_targil8 of targil8 is
signal netl,net?:bit;

component sys|
PORT(x : IN BIT VECTOR(3 DOWNTO 0):
¥, - BUT BIT);
END component;

component sys2 IS

PORT(x : IN BIT VECTOR(S3 DOWNTO 0):
v i OUR BIT);

END component;

component sys3 IS
POEBT(a, kb, s : IN BIT;
¥ & OuT BIT);

END component;

begin

Ul:sys1 port map(x=>x, y=>netl);

U2:5ys2 port map(x=>x, y=>net2);

U3:5ys3 port map(a=>netl, b=>net?,s=>s5,y=>Vy);

end;
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